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Get a fidget spinner!  Spin it. I needed to spin time(s) to finish.

Write a 3-digit even 
number.

There are 2 groups of 3 
rocks.  How many rocks?

Jessica bought a pack of 
six waters.  It cost $3.  How 
much did each water cost?

W,  L,  T,  K,  Q,  J,  N,  I,  

,   H

20 ÷ 5 =
Round 1127 to the nearest 
hundred.

Write the missing family 
fact.
7 x 16 = 112
16 x 7 = 112
112 ÷ 7 = 16

What 5 coins add up to 101 
cents?

8 + 4 - 6

Estimate quickly the 
difference.
7,790 - 1,570

How much money is 1 
quarter, 1 dime, 7 nickels, 
and 1 penny?

The radius of a circle is 565 
cm.  What is the diameter 
of this circle?
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Spin again. I needed to spin time(s) to finish.

 ÷ 3 = 5

Write the number that is 
one thousand less than 
3,406.

21 ÷ 3 = 

13,  15,  17,  19,  ,   23 28 is a multiple

of 7 and 14.

38 is a multiple

of  and .

34 is a multiple

of  and .

12,  15,  18,  22,  26,  31,  36, 

 42,  48,  55,  62,  70,  

,   87,  96,  106

It was 9 degrees below 
zero in the morning.  By 
afternoon the temperature 
rose 25 degrees.  How 
warm was it?

9  ÷ 1
5

Round 53,738 to the 
nearest hundred.

It was 9 degrees above 
zero in the morning.  By 
afternoon the temperature 
rose 15 degrees.  How 
warm was it?

How much time is it from 
9:00 a.m. to 11:20 a.m.?

The perimeter of a 
rectangle is 18 cm.  The 
longer side is 7 cm.  How 
long is the shorter side?
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Eric bought a new car. He found out that 
insurance on the car would cost him $281.20 
for a year. If he wants to add collision 
insurance, it will cost an extra $9.82 per 
month. What will the yearly cost for Eric's car 
be, if he adds collision insurance?

It was a beautiful spring day. Holly was 
amazed at all the butterflies. As a matter of 
fact, she had already counted 100! Of those, 
25 were Monarch butterflies. What is the 
probability that the next butterfly she sees will 
be a Monarch? Write as a fraction in lowest 
terms.

Jessica earned $57.28 working 8 hours babysitting. Sarah worked the same number of 

hours, but she earned $74.08.  How much more was Sarah paid per hour than what 

Jessica got per hour?

Mr. Davis has ants and cats on his farm.  The ants are his favorite!  One day he was bored 

and counted all the legs.  Between his insects and cats he had a total of 54 legs.  That's a lot 

of legs!  How many ants does he have?
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Estimate. 41 + 59 + 85 + 38 + 24 = 

A) 240

B) 520

C) 280

D) 250

6.0 + 0.94 = 

A) 600.94

B) 60.94

C) 69.4

D) 6.94

What is the approximate length of a 
standard pen?

A) 15 cm

B) 4 cm

C) 50 mm

D) 3 inches

15 + 28 + 9 = 

A) 52

B) 56

C) 87

D) penny

How many quarts in 16 pints?

A) 12 quarts

B) 15 quarts

C) 4 quarts

D) 8 quarts

What number is missing from the following 
sequence?

24, 35, 46, 57, 68, ____, 90

A) 78

B) 89

C) 79

D) penny
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Mr. Young built a 

rectangle-shaped deck in 

the back of his house. He 

worked on it for an hour 

each day during National 

Time Management Month. 

By the end of the month, he 

had finished the 9 1
4

 feet 

wide and 12 1
3

 feet long 

deck. What is the perimeter 

of his deck?

Danski Brothers Farms 
planted 340 rows of 
tulips. Each row was 25 
meters long. What is the 
total length of the rows? 
Write your answer in 
kilometers.

Holly and her mother 
are going to see the 
Atlanta Braves play 
baseball. The game 
starts at 4:15 p.m. It 
takes them 1 hour and 
26 minutes to drive to 
the field, buy tickets, and 
get to their seats. What 
is the latest time they 
can leave home and be 
in their seats when the 
game starts?

Anna was given four numbers:  10,  8,  
12,  and  13.  She needs to use two of 
these numbers to make a fraction.  
Can she make a fraction that is less 
than three-fourths?

How many millimeters are in 3 centimeters?

 millimeters

For 34,119,833,208, write the 
digit that is in the ten 
thousands place.

1 km = 1,000 m

16 km = m

What root does each of these words 
have in common? Write the root and 
what you think it means on the line.
construct, instructor, destruction

7 x 6 = 

11 lb = oz
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Can you draw ONE line going through ALL the circles?  Your line can go left, right,
up, or down.  It cannot go diagonally.  Your line cannot cross over any part of 
the line you have already drawn.
You MUST TURN in a BLACK circle.  Do NOT TURN in a WHITE circle.

The puzzle on the left shows a correct line going through all the circles.

Finish the line: Finish the line:

Write a letter that has a line 
of symmetry. 56 ÷ 8 = 4 6 5

- 1 8 5
6 6

- 5 5

Can 984 be evenly divided by 4? Circle:
984 is evenly divisible by 4
984 is NOT evenly divisible by 4

3 7 4
+ 3 3 6

word root ize can mean make harmonize, synchronize

2 0
+ 2 9
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Circle the smallest number:
17,535,082
8,942,630

70,258,132,406
1,647,931,946

In the number 47,327,892, the digit 9 is in 
what place?

What can you multiply by 9 to get 
5?

Can 668 be evenly divided by 11? Circle:
668 is evenly divisible by 11
668 is NOT evenly divisible by 11

Sara wrote down a fraction on a 
piece of paper.  If you take her 
fraction and multiply it by five you 
get seven.  Can you guess what 
her fraction is?

How many digits are in the 
number of days in the 
current month?

List seven of the smallest whole numbers 
that are greater than 52, are multiples of 
3, and are not multiples of 7.

132 ÷ 12 = 

Circle the correctly spelled word.
voyage, woar, shalow

9 x 11 = 

What is the homophone of this word?
tense

Circle the correctly spelled words.
ridle, riddle
ahed, ahead
nineteen, ninteen
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2 8 6 6 9 ÷ 3 = 3 3 = = 7 3 = 7 1
6 2 2

Use the pieces above to help you fill in the runaway math puzzle.

Sarah has two favorite 
numbers.  If you add her 
favorite numbers, you get 22.  
If you multiply her favorite 
numbers, you get 117.  What 
are her mystery numbers?

word root flor can mean flower florist, floral

Cross out all of the prepositional 
phrases in the sentence.
I flew in an airplane above the 
clouds and under the sun.

0
+ 0 + 1 = 3

+
1 ÷ 8 = 2 2

2 6 =
3 x = 9

4 x
6 5
+ 5 9 1 + 7 8
8 + - x 4

7 4 2 ÷ = 6 5 0
1 + = 4 = x
4 1 6 ÷ =

+ + 1 = 5 =
0 0

https://www.mathworksheets.com


Name:
Week of May 17
MathWorksheets.com

28.8 +14.1

-13

+4+9.7

+49.5

+5 -11.2 -23

-46.9

17

+2.6

+3.3

+1.4 -15

+37.4

+8

+18

-29 +31.5 75.2

Circle the digit in the tenths place.

979.2259

Sara multiplied two one-digit 
numbers and then added 118.  The 
result was 194.  Amy does not 
believe her and thinks Sara made 
a mistake.  Who is correct?

word root duct can mean lead deduct, deduction, induct

Conjugate this verb in the perfect tense.
eat
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9 7 8 9 3 3 2 1 5 5 2 4 1 6 5 6

7 1 5 7 5 5 3 8 7 5 0 8 1 2 8 0

Write as a decimal.
Four hundredths

Write as a decimal.
One hundred twenty 
thousandths

Write as a decimal.

 2 96
100

How many centimeters in 
7.9 meters?

Round the decimal 0.675 to 
the nearest hundredth.

How many centimeters in 
580.6 meters?

Insert commas in the correct places in 
this sentence.
Rabbits eat grass flowering plants 
and leafy weeds.

What is the suffix of the word 
happiest?
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Fill in the missing numbers.
Only rule - The same number CAN NOT be next to each other, in ANY direction.

Dark lines surround a block.  Numbers to use in a block:
  A block with 1 space has to be the number 1.
  A block with 2 spaces must have the numbers 1 and 2.
  A block with 3 spaces must have the numbers 1, 2, and 3.
  A block with 4 spaces must have the numbers 1, 2, 3, and 4.

3 1 2 4 3 1 2
4 3 1 2 4 3

1 1 2 4 3 1 2

An entire block with 4 spaces is blank.  Since
the block is 4 spaces it uses the numbers 1-4.

1 2 4 3

2 3 1 4 1 3 2
1 3 2 4 1
2 4 1 3 2

An entire block with 4 spaces is blank.  Since
the block is 4 spaces it uses the numbers 1-4.

3 2 1 4

2 3 1 4 1 3
2 3 4

2 1 4 2

Hint - These numbers are missing:

3 2 1 1 1 4 2 3

1 2 2 1
3 1 3 4
1 3 2 1 2 1

Hint - These numbers are missing:

2 1 4 2 3 4 3

14  +  2
3

 - 1
7

 = 11  +  5
11

 + 1
2

 = 97 - 2
5

 =
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Fill in the missing numbers.

3 2
2 2 4

4 1 3
2 3 2 1

Hint - These numbers are missing:

4 1 1 3

1 4 1 2

1 4 1 1
3 3 3

4 1
2 3

Hint - These numbers are missing:

2 4 2 2 4

1 3 1 2

1 4 2 4
3 4 1 1

1 4
4 1 3 1

Hint - These numbers are missing:

2 3 2 4 3

3 2 3 2 2

2 2 3
4 1 4 4 1

2 2 2
1 4 1

Hint - These numbers are missing:

3 2 3 4 3

1 4 3 1 3

Circle the answer that best completes 
the sentence.
Either colored pencils (or/nor) 
markers will work for today's 
assignment.
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<
True False

>
True False

=
True False

=
True False

<
True False

=
True False

=
True False

=
True False

=
True False

Did you find that three are true?  If not, look again!
Hint: If you see the same pieces on both sides, you might need to remove both pieces.

You should only mark TRUE if you are absolutely sure it is correct!

word root ang can mean bend angle, angular
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ACROSS

4. Nickels in seven dollars
5. Nine more than 10-Down

7. 8-Down plus 10-Down

9. Five more than 5-Across

11. Seven times 18-Down

12. Four less than 4-Down

14. 6-Down plus 16-Down

18. Six less than 4-Across

19. 4-Across plus 15-Down

DOWN

1. Eight less than 7-Across

2. Six more than 13-Down

3. 18-Across plus 19-Across

4. Six more than 18-Across

6. Four more than 15-Down

8. 5 + 5 = 2 x ____

10. 4-Across plus 8-Down

13. 15-Down plus 4-Down

15. Two more than 4-Across

16. Nine less than 19-Across

17. 13-Down plus 16-Down

18. Eight more than 8-Down

1 2 3 4

5

6 7 8

9 10 11

12 13

14 15 16 17

18

19

(7 + 5) + 3 = 
Circle the greatest number:
1,728,349 650,758
69,185,103,794 2,430

Which of the following is a simile?

A My dad is like a rock. B He is a rock.

C You are a couch potato. D She is an airhead.

https://www.mathworksheets.com





